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9.1 - 10 Points

1 the six tri; I¢ fusictlons of the angle 6. g 3
. # ¥Penose

If 8 is un acute angle of a right triéngie.a'nd stn ti = 'i, wﬁnt is tai@

9.1 - 20 Points

7

9.1 - 30 Points

M! o0

Find the vahie of x for the right triangle shown.

|

Solve A ARC,

9.1 - 50 Points

HOT AIR BALLOON You are standing 50 moters froim a hoi ale balloon that is
preparing to take off, The angle of elevation to the top of the Lalloon ig 28°,
Fing she height of the baltoon.

fun 23°%= R
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9.2 -10 Points 9.2 — 20 Points

Draw an angle with the given measure in standard position. Find one pasitive angle and one negatlve angle that are coterminal with
{a&) =45 and {b) 3952
a 240° b, 500° . —50°

-

nk*

9.2 — 30 Points 9.2 - 40 Points
SOFTBALL A softhall field forms a sector with the
Convert (#) 125° to radians and (b} ——-wi-’fi radians to degrees. dimensions shown. Find the length of the outfield &

fence and the area of the ficld,

9.2 — 50 Points 9.3 — 10 Points

FIOING AR LENGTH AND Alea Find the arc length and area of a sector with

the given ridius rand central angle 6. Let (—4, 3) be a point on the terminal side of an &
7 angle 0 in standard position, Evaluate the six-r

r=15cm, 6 =45 trigonometric functions of ¢,
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y=- -
=1 9.3 - 20 Points
L
Use the unit circle to evaluate the slx trigonometric functions of § = 270°,

smb= :5‘-34 eseB= ~|

9.3 — 30 Points

Find the veference angle ' for (a) 4 = i;i and (b) #= —130"

9.3 — 40 Points

yaluatg (a) tan (~240°) and (b) csc 2720, @0

9,3 — 50 Points

RORBGTICS The “fropbal” is u rebot designed for exploring
rough terraln oi other planets. It can Jump al o 45° angte
and with an initis] speed of 16 feet per second. On
Enrth, the herizontal distance J (in foed) traveled -
by a yrefeetile lnunched az an angle 8 and with

an Inltial speed v (in feet par second) i3 given by:

s

Froghot

e d= ) sin 28

How faz can the fragbot jump on Carthy

Graph (a) y = 4 sin xand (b) y = cos 4x.

;éa%s.mx ﬁ% coc ?x

10.1- 10 Points g

10.1 — 20 Points

Graph g(x) = 5sin mx

S

™
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10.1 — 30 Points 10.1 — 40 Points ‘;
Graphy= }f cos 27X, Graph f(x) = _:12_ COS%

10.1 - 50 Points

Graph f(x)=-3sin gﬂx

10.2 — 20 Points 10.2 — 30 Points
FERRIS WHEEL Suppose you are tiding a Fegris wheel that turns for 180 seconds.
Graph y =5 COSs 2 (x -3 q':) . Your helght # (in feet) above the ground at any time 7 {in seconds} can be

modeled by the Lqu.mon fr =85 \m = [t 10! + 9

What are ynu ximum and minimy

arheights?

amp &
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10.2 — 40 Points

Graphy = —2sin %(x - %’«)

10.3 — 10 Points

Given thatsin i = % and % < 0 < 4, Findd the values of the other five
trigonometric functions of 0.

10.3 — 30 Points

Simplify the expression‘ cse x sin x + dotz
Sex
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eot D |

S

10.2 — 50 Points

Graph g(x) = —1 — 3 cos 4x

10.3 — 20 Points
Simplify the expressio Sin XCSCXx ’

sm¥. L

S X

10.3 — 40 Points

Simplify the expression sec x tan? x + sec x

Y




10.3 - 50 Points

Simpiify the expression esc #cot® 6 +

.
sin 0
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